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The total nos. of main pole in Auxiliary Machine type AG-5| are 

) 8 
C)6 

A) 0.8 to 1.2mm 

The gap between inner and outer drum of ECC (Eddy current clutch) is 

C) 2mm to 3 mm 

A) 40 
C) 10 

The Axle Generator has total numbers of magnelic poles 

A) 2 to 3 mm 
C) 4 to 5 mm 
Traction motor- 165 is a 

A) D.C. Series Motor /Srfl faty ter 
C) D.C. Shunt Motor /$tefi ze tcT 

Relerence mixer card is also known as 

A) 253 card 

Clearance between brush holder and slip rine of lraction Alternator typc 10106 AZ is 

C) 188 card 

A) 1 Hours 
C) 11 Hours 

A) 11 Hours 
C) 08 Hours 

B) 2 

A) 2.0 Kg/em²/ 2.0 faturAft 

C) 2.5 Kg/cm²/ 2.5 fbuA 

D) 4 

A) Incrcased / 

B) 1.9mm to 2 mm 

C) Decreased / 

D) 9mm to 4mm 

In running condition (without load) the LCR position in GE Gov. is at ,.0" clock 

A) 0.2 Kg/cm² /o2 fantrlz 

B) 80 

C) 8 to l OKg/cm²s 1o f*yt 

D) 20 

A) Work as commutator/ qcr o Fs 

C) Work for balancing of Tr. Alt. rotor 

B) 3 to 4 mm 

LCR position of WW Governor (Clock) on full load HP is 

D) I to 2 mm 

B) A.C. Series Motor / vf farftgetez 

D) Induction Motor /$sAe 

B) 186 card 
D) 187 card 

Low lube oil shut down pressure setting in WW governor fitted locomotive 

B) 10 Hours 

D) 5 Hours 

B) 12 Hours 

The hieher temperature of the electrolyte in the battery caused life of battery to. 

D) 15 Hours 

B) I.3 Kg/cm²/13 f» Af2 
D) 3.0 Kg/em² /3.0 fe 

Blowing air pressure in TG/TA Is recommended between... 

B) No effect on life of battery 

D) Excess temp. is must for good life 

B) 2 to 4 Kg/cm2 / 24 fbeTA ATA2 
D) Pressure of the blowing air is not 

The function of slip rings in Traction Alternator is 

B) Work as a current collector/ 
D) None of the above /guta à 

e hRRFs 
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Ta supply of wire no.0 or 8 nos. breaks up. what will happen 
A) Loco will not move to any direction 

C) Loco will move in both direction 

A) Stop Button /Yu acA 
C) MUSD/HqyHsi 

In MU operation both the loco can be shut down through... 

Reverser Contactor used on diesel loco is 

A) To change the direction of field 

C) To pass the power suppP? 

A) Work as commutator 

C) Work for balancing of Tr. Alt. rotor 

What is the full form of VRCLS? 

to T/Motors 

C) Voltage Reverse Current Limit Shunt 

Oscillator card is also known as....... 

A) 188 card 
C) 253 card 

The function of slip rings in Traction Alternator is 

Full from WDG3 

A) Wide Double Gage 3 
C) Wide Diesel Goods 

Hours Power WDM3A 

A) 3000HP 
C) 3200HP 

Which pressure is adjusted by limiting valve? 

A) F-l pressure /5-1 Çaq 

C) FP pressure/s qara 

Unit of Air Flow Indicator (AFI) is? 

A) Kg'cm2/fu/12 

AIIA/AV 

A) Voltage Regulating Current Limit Shunt B) Variable Current Limit Shunt 

C) Wagon reading / t fT 

B) Loco will move only one direction 

D) Loco will move in both direction 

A) Two position setting / rfa 

C) Three position setting / � frerfa tf 

B) OST / sye 

D) Lube oil plunger / u R 

B) To use the Dynamic braking 

D) None of the above 

B) Work as a current collector 

D) None of the above 

D) None of the above 

B) 187 card 
D) 254 card 

B) Wide Diesel Gage3 
D) Wide Double Goods3 

B) 3100HP 
D) 3300hp 

B) BP pressure/ ara 
D) Synchronization pressure/NOGR TGG 

How many position setting of C3W distributor valve has 

B) Pound / inch /qTGG/FE 
D) Kmh / fo/I 

B) One position setting/ fr 
D) No diferent setting/ 3eT T TÊ 
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Air supply for horm is from. 
A) MR-| tank /H3IR-1 Zh 
C).,J" filter / eR 

reImissible time for loco brake release in seconds is. The loco fitted with chock in CZ 
relay valve. 

A) 50 sec / 50 ts 
C) 24 sec / 24 ths 

A) T 

Thread diameter of BP & FP angle cocks (in inch) is... 

C) 2" 
MR safety valve is set at pressure (in kg/cm) 

A) 10.0 kg/cm 
C) Above 10.5 kg/em? 

Feed valve is charged trom 

A) MR-l tank /H3ITR-1 t 
C) .J filter / thcer 
Wiper gets the air supply from.... 

A) MR-1l / A34TR1 
C) BP pressure / a4t qard 

A) MR-l pressure /H3T-1 GAT4 

C) BP pressure / aret zara 
During which stroke inlets valves opens 

A) Suction /HTT 

C) Power / f 

A) 14 
C) 18 

B) MR-2 tank / H3ATR-2 t 

D) Duplex Valve / qdRI A 

White smoke given by engine is due to 

A) FIP not responding / 

C)Cylinder head crack internally / 

B) 40 sec / 40 h 

D) 30 sec / 30 t 

The governor of air compressor get supply from..... 

A) Injector nozzle hole chocked / 

B) 3" 

C) Fuel cam lob damage / t 4 ata af 

D) 1," 

B) 6.0 kg/em? 
D) Below 6.0 kg/cm' 

B) MR-2 tank /H34T-2 Ze 

D) BP pipe / ar 4SY 

B) MR-2 / H3ATY-2 

D) HS-4 valve /H-4 acd 

How many cam shaft bushes are fitted in one l6 cylinder block? 

B) MR-2 pressure / H3TR-2 aq 
D) B.C. pressure / a GaIg 

B) Compression /Ta 
D) Exhaust / a1 

B) 16 
D) 20 

B) Tappet phasing disturbs / 

What are the possible causes of injector not responding 

D) X-head having abnormal sound / 

B) Phasing on up position 

D) Any of the above / a hs f 
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Buffer height can be adjusted by 

A) Adding shims to load pads side I BAdding shins to spring seat / fegr irc 

C) Both�A" & �B" / st ar at D) None of the above /z a f HÂÌ 

hmount of shims that could be added to centre pivot & side bearers to adjust side buffer height 

A) S0 mm 

C) 12 mm 

A) 5 mm 

Minimum distance between brake block & wheel in release position should be 

C) 15 mm 

A) 1010 mm 

C) 1030 mm 

Service limit of wvheel dia. of diesel locomotive (In goods service) is 

A) 04 
C) 02 
Big Equalising beams are fitted on 

A) Auxiliary Generator 
C) TCC-2 

Number of Tie bars in each bogie ofa WDM3A Locomotive is / 

A) 68V 
C) 72V 

TO � VCD cycle is called 

A) Vigilance cycle, / #AGI TE, 

C) Penalty brake cycle, / tre ts aa, 

Total nos of cell of Batteries in WDG4 Loco 

B) 21 mm 

A) Wheel No. 2-3 & 4-5 of a WDM3A locomotive 
B) Wheel No. 1-2 & 5-6 of a WDM3A locomotive 

C) Wheel No. 1-2 & 4-5 ofa WDM3A locomotive 

D) Wheel No. 3-4 & 4-5 of a WDM3A locomotive 
The Traction Motor Blower is mounted on 

A) 32 

D) 35 mm 

C) 64 

B) 10 mm 

Total Voltage of Batteries in WDG4 Loco (Lead acid type) 

No. of Radiator fan in WDP4 &WDG4 Locos 

A) 02 

20 mm 

C) 03 

B) 1040 mm 

D) 1020 mm 

B) 08 
D) 03 

B) TCC-1 
D) Engine 

B) 75V 
D) None of these /sà i 

B) Warning cycle, /aiat aa, 
D) All of these. /àTt 

(Lead acid type) 

B) 50 
D) None of these /ÀÀ E T 

B) 01 
D) None of these /TÀà af Ì 
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WDG4D is specially design for -

A) Passenger Service, / tar 
C) Mixed Service, / ffad tar 
WDG4 is a 

WDG4 yã 
A) Single Cab Loco, / fiA ha atca 

C) Dual Cab Loco with Disc Brake, / 

A) 8 
C) 16 
To operate sander, air supply is received from 

A) MR-1 Pressure,/ H3TR 1 A� 
C) BP Pressure, / a tar 

How many cylinders are in HHP Loco Engine? 

Length ofWDG4D Locomotive is -

A) 22.98 meters, 

C) 21.7 meters, 
What is transition 

A) Change of input voltage to TMs 

C) Change of loco speed 

As speed 
d 
nS, Back emfof TMs 

A) Initially decreases thereafter increases 

C) Increases / a IGIE 
Name of acid used in lead acid battery 

A) H;SO, 
C) HNO; 
Buffer height can be adjusted by 

A) Adding shims to the loading pads and 
centre pivot. / afsT tG sir Her ft 

B) Goods Service, / HI ta 

C) All of the above. / JUti 

D) None of the above, / g h f T 

B) Dual Cab Loco, / G oa ta 

D) Dual Cab Loco with Hotel Load. 

B) 12 
D) None of the above / as H 

B) MR-2 Pressure, /A34TR-2 |q 

D) B.C. Pressure. /à . zaa 

B) 21.24 meters, 

D) None of the above./ 1 TBÌ 

B) Change of lnput Current to TMs 

D) Change of combination of TMs 

B) Initially increases thereafter decreases 

D) Decreases / IGI 

B) HCL 
D) Mixture of HCL & HNO; 

B) Reducing shims from the loading pads and 
centre pivot. / ifaT E 0R g TH 

D) None of the above. / GURtT i 
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Which is not a reason of Wheel Skid in ALCO Loco? 

A) Simultaneous application of air brake and dynamic brake in the lo 

B) Defective brakes or improper releasing of brakes. 

C) When the Locomotive is kept running with brakes binding 

D) When the Locomotive is Stalled for long time 

A physical quantity which has both magnitude and direction is called 

A) Scalar quantity / sfQI uRI 
C) Neither (a) nor (b) /a at (å D) Either (a) or (b) / 1 a () I (d) 

A DOdy travels along a straight path trom its initial position to a point 20 m away 

returns back to its initial position. The change in the position of the body Is 

distance travelled is 

A) 20 m, 40 m / 20 fte, 40 t 

D) 40 m, 40 m/40 T, 40 

A) 5 miles /s tt 
C) 10 miles / 10 tt 

If a woman walks at a speed of 5 miles/hour for 3 hours, she will have walked 

A) 50 mph/minute/ 50 l fa 

C) 54 mph/minute /54 t ufa tfe 

A) The hammer / BrgI 

r 

aA 

Ifa car changes speed from 50 mph to 54 mph in one minute, its average acceleration is 

C) They hit at the same time. / seA yo 

A) Brother /T$ 

C) Nephew /Tt a1 

B) Vector quantity / ufa anfRr 

C) Grandson /itT 

B) O m, 40 m /0 le, 40 fte 

D) O m. O m /0 Ht, o te 

IfA is the brother of B, C is the sister of B, 

ufe A. B # HÉ , C. B Ì TE1 8, ARC, D 

A) Nephew /*f 

The moon is a nice place to study free-fall because it has no atmosphere. If an astronaut on the 

moon simultaneously drops a hammer and a feather from the same height, which one hits the 

ground first? 

A) A month/ Hg 

C) Six month /B. HIE 

B) 8 miles /8 

D) 15 miles / 15 t 

B) 52 mph/minute /52 tt ufd HÁ fhe 

A woman introduces a man as the son of the brother of her mother. How is the man related to 

the woman? 

D) 4 mph/minute / 4 ua à fte 

B) The feather / g 

D) They don't fall. /àrà HI 

B) Uncle / 3fht 
D) Cousin / 

and then 
and the 

and C is the father 
T feGi at D, A 
B) Nicce / dtu 

PREM meeting is held at Railway Board level once in 

TS 

D) Granddaughter/ut 

of D, how is D related to A 
by yar tufa à 

B) A Quarter / E À 
D) None of these / g at 
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Matenity leave is aduissible to..... ailway lemale enployee 

A) Maricd / faanfka 
O Married lemale with les tlun Iwo D) Married n wcll an maricd femae willh 

surviviny children less than Iwo surviviny children 

Aler 120 days, during hospital leave kailway employee will be paid 

A) Leave salary 0D averape paay 

C)Leave salary on one third averape py 

First Train in India started in the year 

AI827 

C) 1947 
Railway bord |letqumlers siluated l 

A) Mumbai/ 4 
C) Kolkala / eblll 
llead of Zonal Railwuy is 

A) PCMIE 

C) GM 
Ilow many Zoncs in Indian Ruilway 

A) 18 

C) 19 
Jamalpur Diesel Shed is located in which railway 

A) ECR 
C) NR 
From 01.01.2024 which are nced to pply for leave 

A) Manual 
C) RESS 
Full lorm ofTlRMS 

A)House Rest Manager System 
OHouse Resource Management 

Supervisor 
Full form of GM 

A) Grand Manager 
CGeneral Manager 

A) JAG 
() SS 

A)S 
C)6 

B) Lcave salary on hall averape pay 

D) Nonc of these 

B) 1853 

I3) New Delhi/ 

D) llydeabad / 1414 

B)CA0 
|D) PCSO 

B) 20 
D) 17 

B) ER 

D) NFR 

B) IRMS 

D) E-O0ice 

B) Human Resource Management System 

D) Ilouse Resource Management System 

B) (Goods Manager 

D) Gate Manager 

B) SAG 
D) JS/AS 

B) 7 
D) 8 
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A) 6 

C)4 

A) 1853 

C) 1856 

A) TR 
C) qtaH 

A) i 
C) atart 
Which day is celebrated constitution day ? 

A) 26 January/ 26 Ua 

C) 29 December/ 29 frar 

A) Member of Lok Sabha / 

C) Member of state legislative council 

A) Virat Kokeli / farc al 

A) Second / HR 
C) Five/ígd 
What a minimum age for Lok sabha member? 

A) 25 Years /25 q¢ 
C) 21 Years / 21 q 

Which of the below do not vote to elect the Indian 

A) 7th / HITa0 
C) 3rd / tr 

B) 3 
|D) 5 

A) 1920 Yrs. / 1920 T¢ 

C) 1930 Yrs. / 1930 T 

B) 1962 

When starting the non-c0-operation movement? 

Who was the last viec-roy in India ? 

D) 1862 

Who scored the highest run in the presently completed cricket World Cup - 2023? 

A) Lord Mountbetton / cde 

C) Lord Wavell / IS qdi 

B) zfa 
D) yd 

B) ZeT 
D) 4eAI 

c) Quinton de Kock / Ue S t# 
Which renking of Indian economy in the world by method of PPP? 

B) 26 November/ 26 

D) 15 Augus/ 1S TKI 

B) The elected member of Rajya Sabha / 

D) Member of state legislative assembly / 

B) Rohit Sharma / ftT If 

Which place of India in the world on the basis of area? 

D) Rachin Ravindra / tfer vfàz 

B) Third/r 
D) Tenth/ 

B) 30 Years/ 30 qt 
D) 35 Years / 35 q 

B) Sth / zgt 

D) Ist /VBI 

192I Yrs. / 1921 q 
D) 1931 Yrs. / 1931 gÉ 

B) 

B) Lord Lilinghgow/ IS fejni 
D) Lord Cormwellis / IS hafH 
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Fundamental right are mentioned in which part of Indian constítution ? 

Who is the vica-chairman of NITI Aayog? 
A) Arvind Panagaria / 34fde ifgu 

C) Monhu Singh Ahluwalia/e Eafru 
LCM of 42, 70, 98 and 126 is 
42, 70,98 3R 126 
A) 126 
C) 4410 

A) 3 
C) 4 

A) 81 
C)85 

What value must be given to * so that the number 6912 * is divisible by 25? 

second number is 

Which one of the following is a prime number? 

A) 16 
C) 8 

A) 40 
C) 55 

yeirqH 1 

A)6 
C) 12 

The HCF and LCM of two number are 4 and 48 respectively. If one of these number is 12. the 

D) IVth 

A) 100, profit 
C)Z120, loss 

B) IInd 

B) Amartya Sen 
D) Suman Bery 

B) 2205 

A) 250% 

D) 8820 

C) 40% 

B) 5 

The average of the height of'5 students having height 30, 40, 50, 60 70 is 

D) 7 

30, 40, 50, 60 70 GS qIG 5 BET hals a 3tH} 

A) 3600 
C) 360 

B) 83 
D) 87 

The cost of 6 kg rice is equal to the cost of 8 kg wheat. If the cost of wheat is 6 per kg. then 
the cost of 1 kg rice is 

B) 12 

D) 4 

As person buys l0 dozen pens at the rate of R 24 per dozen and sells them at the rate of 36 a 
dozen. What is his profit or loss? 

B) 50 
D) 45 

B) 8 
D)? 14 

Out of 600 students 240 are girls. What is the percentage of girls? 

B)100, loss 
D) I20, profit 

B) 60% 
D) 24% 

What is simple interest onl800 for 10 yr at the rate of 10% per annum? 

B)? 1000 

D)? 1800 
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